Mathematics-XII(Integration) maths /methods

Topic: Chap 7 (Integration)
Important Problems for Practice
For 1 mark

Multiple Choice Question(MCQ)

Write the correct option in the following questions:- Q
1. The anti derivative of vx + \/i} equals ( %v
1 1 2

(A)Sx3+2x2+C (B)Ex§+2x2+C

(C)§x2+2x2+C (D) x2+ x2+C \\
2. If—f(x) = 3x? — —such that f(—1) = 0. Then f(x) is %%

(A) x? +——1 (B) x2 +— %

(C)X +F_1 (D)X +F
3. Ifif(x) = 4x3 — isuch that £(2) = 0. TheA £ (%) is
(A) x* +——% (8) +§+L§\ \
(O x*+ 5+ (D) x3
10x9+10% log, 10
4. | xx10+1(:ng equals %
(A) 10* — x10 + c_)% (B)10* + x° +C
(C) (10* +C  (D)log(10* + x1%) +C
5.
(B)tan (e *) + C
(e:—e_x)+C (D) log(e* +e™*)+C
6 dx is equal to

+C (B) log|sin x + cos x| +C

sinx+cos x

. 1
(C) log|sinx — cosx| +C (D) m+
22 Gy is equal to
1+cosx

(A)log |1+ cosx|+C (B)log|x +sinx|+C (C)x—tan§+C (D)xtan§+C
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10.

11.

12.

13.

14.

15.

16

J— is equal to
sin? x cos?x q

(A) tanx + cotx + ¢ (B)tanx — cotx + ¢

(C) tanxcotx + ¢ (D) tanx —cot2x + ¢

[=Z_ equals
X2 42x+2 q

(A)xtan"!(x+1)+C (B)tan"!(x+1)+C

O(x+Dtan'x+C (D)tanx+C

dx

| Fox—gaz 9 equals %l\/
9x—8

(A) ésin‘1 ( . ) +C (B) %sin‘1 (8’:9) +C &
9x-8 9x—8 ®

(C)ésin‘l( . )+C (D)%sin‘l( 5 )+C

dx \
| oedx = \S’
(A) sin~? (53_X) to @isint (F)+c  (0llog (zii) i%%zfz) (SP 20)
[ e*(cos x — sinx)dx is equal to %~
(A) e*cosx+c (B)e*sinx+c (C) —e*cos )—e*sinx + ¢

f::f(x) dx is equal to %«s
(A) f:f(X—C)dx (B)f:f(x+c % \

b b—
(€) [ f(x) dx N
If x = ()y\/%andz%l= ,% qual to
(A) 3 (B)6 ( 9 (D)1
1 x34|x|+1 .
f1x2+2x+1dx@
(A) log 2 % g2 (C)%logZ (D) 4log 2

If f(a+ = f(x), then f: xf(x)dx is equal to

a+b

( (b —x)dx  (B) 22 [T f(b+ x)dx
%fff(x)dx (D) aTH’f:f(x)dx

17.

18

/2 cosx
——dx equals
-m/2 1+e* q

(M1 (B0 (O-1 (O)F

[ ~_dx equals
—21+45% q

(A)§ (B) 0 (C)_?S (D) None of these
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2x-1 .
—2) dx is
—x

19. The value of fol tan~! (1+x

(A1 (B0 (01 (D)7

20. fol tan"1(1 — x + x?)dx equals
(A)-log2 (B)log2 (C)0 (D) None of these

et
(1+t)2

t
21. If f;%dt = q, then fol dt is equal to

(A)a—1+Z (Bla+1-2 (Qa-1-7 (D)a+1+3
6e*—3e% _ x —x &
22. If [ - dx = ax + blog|2e* + 3e™¥|, then %
3 %

1 1
(A)a=—5,b= (B)a=5,b=2

1

(D)a=—3b=—> h\’

Answer Key o

Nlw N|w

=1lp=_
(B)a—z,b—

123456789101112% 0516171819202122

C/D/A|D|A|/B|D|B|B|B]|B B« | B|D|A|A|B|B|B|B

For online MCQ test use be@%
m
=1
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